R4.3. 1 BlE SramEEAnR S sl R

JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
ikl 47,888 109, 721 53,443] 56,278  -11] -113] -74 52 126  -39] 294] 333 0 84 84
HI—TH 7071l 1,510 744 766 -2 =10 -2 0 2 -8 1 9 0 0 0
FLl T H 563 1,312 658 654 0 0 1 1 0 -1 0 1 0 0 0
LI =TH 461 1,038 511 527 6 4 1 1 0 4 7 3 -1 1 2
SulAEH 1,731 3,860]  1,913| 1,947 4 —6 0 2 2 -5 8 13 -1 1 2
Sk —TH 475 954 451 503 1 -5 -3 0 3 -2 5 7 0 0 0
. = 737 1,743 846 897 2 1 -2 0 2 2 3 1 1 1 0
SR —TH 542 1,291 618 673 -1 -3 0 1 1 -3 3 0 0 0
S AT H 398 897 442 455 -2 —4 -1 0 1 -3 0 0 0 0
o h ] B 603|| 1,318 639 679 -5 -11 0 0 0 -11 1 12 0 0 0
BN T B 232 509 252 257 0 3 0 1 1 2 3 1 1 1 0
ARt TH 647 1,692 821 871 -1 -6 -1 0 1 -3 1 4 -2 0 2
oA\ T H 392 882 418 464 0 0 0 0 0 0 1 1 0 0 0
IV B 613[ 1,457 724 733 -2 10 1 2 1 5 8 3 4 6 2
B naatl 4,639 10,743 5,211 5,532 -8  -15 -6 4 of  -13 25 38 4 8 4
e n—1H 348 812 401 411 -3 -7 -1 0 1 -5 2 7 -1 0 1
e T H 984/ 2,091| 1,039 1,052 -3 -3 1 2 1 -3 1 4 -1 0 1
HHk o —TH 679 1,429 710 719 2 1 0 0 0 2 4 2 -1 0 1
Wk A AErl 2,011 4,332] 2,150] 2,182 —4 -9 0 2 2 -6 7 13 -3 0 3
Mt A — T H 5291 1,210 594 616 1 -3 -1 0 1 -2 2 4 0 0 0
ek R _TH 357 929 479 450 0 2 -2 0 2 7 7 0 -3 0 3
Mk R =TH 258 554 285 269 0 -1 -1 0 1 0 1 1 0 0 0
ik L G| 544 1,286 645 641 4 5 0 0 0 1 2 1 4 4 0
msEr aaEt] 1,688  3,979] 2,003 1,976 5 3 —4 0 4 6 12 6 1 4 3
JCE g 364 861 417 444 -1 0 -1 0 1 1 6 5 0 0 0
HOEEN— T H 206 426 208 218 0 -2 -2 1 3 -1 2 3 1 1 0
HOEE T H 424 972 470 502 3 1 1 3 2 0 2 2 0 0 0
HoEEI =T H 681 1,734 850 884 0 —4 -2 0 2 -2 1 3 0 0 0
HOEEAN T H 808l 2,042| 1,007 1,035 -2 —4 0 1 1 —4 2 6 0 0 0
HEROH T H 428/ 1,013 515 498 0 -6 -3 0 3 -3 6 9 0 0 0
HOEEIS T H 394 897 442 455 1 -2 —4 0 4 0 1 1 2 2 0
HoEEOETH 661 1,441 700 741 —4 -8 -1 0 1 -7 0 7 0 0 0
HOEESOSE 3,602 8,525 4,192| 4,333 -2 =25 -11 5 16/  -17 14 31 3 3 0
PEEE|  1,5100 2,842 1,345 1,497 0 —4 -5 0 5 5 9 4 —4 0 4
FHIAR 308 648 340 308 —4 —6 -2 0 2 —4 0 4 0 0 0
EE g —T 547l 1,098 509 589 -2 -3 0 1 1 -1 1 2 -2 1 3
EE g — T 253 524 264 260 0 1 0 0 0 0 2 2 1 1 0
R =T H 517 1,156 571 585 -1 -8 -2 0 2 —6 0 6 0 0 0
EESN R T H 619 1,283 607 676 -1 —4 1 1 0 —4 8 12 -1 0 1
EEP g R T H 240 550 271 279 3 3 0 0 0 3 4 1 0 0 0
EE A2 2 176 4,611 2,222] 2,389 -1 -11 -1 2 3 -8 15 23 -2 2 4
EEIARRT— T H 678 1,398 669 729 4 4 0 0 0 6 12 6 -2 0 2
EEIARRT T H 659 1,291 613 678 -1 -1 1 1 0 -3 5 8 1 1 0
EEOARRTAE 1,337 2,689 1,282 1,407 3 3 1 1 0 3 17 14 -1 1 2
RPN 283 792 428 364 0 -1 0 0 0 -1 1 2 0 0 0
WHR—TH 7031 1,634 804 830 1 —4 0 3 3 —4 4 8 0 2 2
HOOR T H| L7290 3,979] 1,919] 2,060 4 4 0 5 5 1 10 9 3 6 3
WHR=TH 852l 2,187| 1,065 1,122 -1 -5 1 1 0 -6 6 0 3 3
HHRIT H 488 1,173 557 616 -2 -3 -2 0 2 -1 3 0 0 0
HPREEH 3, 7721l 8,973| 4,345 4,628 2 -8 -1 9 10 -10 16 26 3 11 8
HiR—TH 681 1,548 747 801 6 2 -2 0 2 4 8 4 0 0 0
LR - TH 934| 2,264| 1,126] 1,138 2 3 0 2 2 1 4 3 2 2 0
PR =TH 483| 1,046 536 510 1 0 -1 0 1 -1 0 1 2 2 0
dbrpiR&a 2,098[  4,858]  2,409| 2,449 9 5 -3 2 5 4 12 8 4 4 0
T IROBTHT 327 817 395 422 -1 -5 1 1 0 -1 1 2 -5 0 5
WIEl 1,584 5,092 2,264 2,828 2 5 -6 3 9 2 11 9 9 10 1
FRE— T H 740 1,753 852 901 -6 —4 -2 0 2 -3 3 6 2 2 0
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FYlE 1T H 734f 1,798 910 888 -2 5 1 1 0 7 8 1 -3 3 6
MoE =1 H 646 1,535 761 774 3 4 -1 1 2 6 6 0 -1 0 1
A EN T H 935| 2,245| 1,068 1,177 5 0 —6 0 6 7 8 1 -2 2 4
RCENNE 624| 1,442 709 733 -2 -6 -1 1 2 -3 2 5 -2 1 3
MAEST H 418 993 468 525 0 2 1 1 0 1 1 0 0 0 0
Al EaE 4,097 9,766] 4,768] 4,998 -2 1 -8 4 12 15 28 13 -6 8 14
VEPe R 5541 1,127 557 570 1 5 0 0 0 2 2 0 3 4 1
e —TH 304 674 319 355 0 2 1 1 0 1 2 1 0 0 0
hge— T H 588 1,342 636 706 —4 —7 -2 1 3 -3 1 4 -2 0 2
A gl 892|l 2,016 955| 1,061 —4 -5 -1 2 3 -2 3 5 -2 0 2
E— 1 H 312 695 348 347 -1 0 0 0 0 -2 0 2 2 2 0
B — T H 630/ 1,376 654 722 -3 -2 0 2 2 -6 0 6 4 4 0
=T H 396 1,065 531 534 3 5 0 0 0 5 5 0 0 0 0
EAE| 1,338 3,136 1,533] 1,603 -1 3 0 2 2 -3 5 8 6 6 0
e —TH 388 954 449 505 -1 -6 -2 0 2 -4 0 4 0 0 0
WHE T H 4391 1,077 538 539 -2 -5 0 0 0 -1 2 3 —4 0 4
HHE T H 764/ 1,876 960 916 -1 -11 -3 0 3 0 2 2 -8 0 8
W& T B 459 1,063 518 545 1 1 -2 0 2 -1 1 2 4 4 0
B E ] H 796 1,743 860 883 -1 -8 -3 0 3 -5 2 7 0 0 0
HHIENT H 239 506 255 251 1 1 0 0 0 1 1 0 0 1 1
HEOEr 3,085 7,219 3,580 3,639 -3 28 -10 0 [  -10 8 18 -8 5 13
<HWE—TH 596f 1,383 673 710 -3 -3 1 2 1 -3 0 3 -1 2 3
<HEIL—TH 718 1,499 735 764 3 4 0 0 0 4 9 5 0 2 2
SHBEIL=TH 516 1,133 554 579 -5  -11 —4 0 4 -7 0 7 0 0 0
<HEWLPTH 5771 1,194 597 597 -1 -2 —4 0 4 2 5 3 0 0 0
<O T H 313 683 366 317 -1 -2 -1 0 1 -2 1 3 1 1 0
<WEEEH 2,720 5,892 2,925 2,967 =7 -14 -8 2 10 —6 15 21 0 5 5
WIE AR —TH 780 1,700 857 843 -5 —4 0 2 2 —4 5 9 0 0 0
WIEAR T H 464 1,107 574 533 -1 -3 0 0 0 -2 1 3 -1 0 1
PIEARTEE 1,244) 2,807 1,431 1,376 -6 -7 0 2 2 -6 6 12 -1 0 1
LWl E 400 772 359 413 3 0 0 1 1 1 6 5 -1 0 1
ek —TH[ 1,078 1,728 773 955 3 4 0 2 2 4 11 7 0 2 2
e T H 412 723 352 371 0 4 2 2 0 1 7 6 1 2 1
kR =T H 632l 1,695 804 891 1 -2 0 1 1 -1 5 6 -1 1 2
sk BRI H 393 833 405 428 -1 -2 0 1 1 2 7 5 —4 1 5
e oA sl 2,515 4,979 2,334] 2,645 3 4 2 6 4 6 30 24 —4 6 10
FRIREET 20 53 27 26 0 0 0 0 0 0 0 0 0 0 0
B 737 1,731 834 897 0 2 -5 0 5 4 5 1 3 4 1
VEEE 293 682 312 370 4 2 -1 1 2 1 3 2 2 2 0
e — T H 4471 1,130 559 571 3 3 0 1 1 3 4 1 0 0 0
e T H 392 923 446 477 -1 -2 0 0 0 -2 1 3 0 0 0
oo B R 839l 2,053| 1,005 1,048 2 1 0 1 1 1 5 4 0 0 0
P — T H 673l 1,370 688 682 -3 0 -1 0 1 1 11 10 0 0 0
P T H 529 1,301 612 689 1 -1 -1 0 1 0 4 4 0 0 0
WeEm A s 1,202 2,671 1,300] 1,371 -2 -1 -2 0 2 1 15 14 0 0 0
P e 309 680 334 346 -1 -3 -1 0 1 -2 5 7 0 0 0
BEHIR 213 515 273 242 -2 1 -2 0 2 3 4 1 0 0 0




